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1. 20195128 HA E#EEBEOER

ES )

(BEiamaH)

g | wwom |Rweo | Do | mee | MIERS

® £ (B8 7XBH) 21,307 22,000 96.9% 21,498 A 191 99.1%
TERAE(EHFTH) 10,554 10,700 98.6% 10,489 65 100.6%
& L Rl &R (% ) 49.5% 48.6% - 48.8% - -
kR & (B F A) 9,908 10,200 97.1% 10,090 A 182 98.2%
EEXEMNE(EABMAE) 645 500 129.0% 399 246 161.6%
BEAMNEZ(AEHFA) 759 600 126.5% 493 266 153.8%
i’a,“ fﬂ %%IE':( 'J-E GE;_ —9;3%)’ 469 400 | 117.3% 395 74 | t11s

EEELEEX. ARFEXZTEYVELENS. LT AIRMERLCABL—FOEH (LS LFARRONE.
MEMLEEBEICLIREEORVICEY. BEE£MRE - BEANRE BLSUAKFEICRETI2LHMAEN
EmLELL=,

(BEaa[)
=] BEHIE
LE2MUEHE] | BIE2MEE] | fEREAL | HE2MUEE] | gIFE2MFE |ATERST
FETEAR FETEAR (%) FETEAR FETEAR (%)
= L v 9 9,386 9,635 97.4% 453 352 128.4%
TOMERNFEH 5,454 5,865 93.0% A 135 A 112 -
e = A it 14,841 15,501 95.7% 317 240 132.3%
& VA 8,060 7,554 106.7% 320 216 148.2%
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3. 7/ L)L (1)) E =)
(BEraaH)
L5 20y L 1Y e Wtk  |ATE2mE
it | AL MMZE | sz (%) | Batmpg | AU
B E & 3,989 30.7% A 286 -0.6% 4,275 31.3%
B E & 5,069 39.0% A 246 0.2% 5,316 38.9%
E5
V; 5 M B 1226 os% | A 163 ~0.7% 1.389 10.2%
N
L F c 812 6.3% A3 0.4% 815 5.9%
)[%
Eav—X 1,434 11.0% 79 1.1% 1,355 9.9%
Z Dt 460 3.5% A 63 -0.3% 524 3.8%
Hi 12,990 100.0% A 683 13,673 100.0%
(BEraaH)
L5 20y L 1Y e WAtk  |ATE2mE
it | AL MMZ | sz (%) | Ratmpg | AU
ER7/ L)L 12,990 61.7% A\ 683 -2.7% 13,673 64.4%
T ISLIL 8,060 38.3% 506 2.7% 7,554 35.6%
20184 20184 20194
6 A X 12AX I B I5 6 Ak
B E & 251 246 13 14 245
[ERR=S 100 104 1 5 100
F C I& 28 28 1 0 29
it 379 378 15 19 374
5. ECOR;R
(e afl)
E A S
WME2MHA | GIE2MEE | RTEREILE | HE2mFH | piE2mEHA |RIERELE
FEHHAM FEHHAM (%) FEHHAM FEHHAM (%)
B#tYAk 795 763 104.2% 763 484 157.6%
A+ 639 592 107.9% 101 70 144.3%
Hi 1,434 1,355 105.8% 864 554 156.0%
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6. 20195128 EHEEXETE

(BERrEHA)

EEi IECES GIECE:S HIHALE (%)

®x L+ = (& B AH ) 45,000 44,015 985 102.2%
& £ # M £ (®B B A ) 22,500 22,080 420 101.9%
& L ® O #® X O ( % ) 50.0% 50.2% - -
kk € # (. #®B B AH ) 20,800 20,422 378 101.8%
2 X M # (® B A ) 1,700 1,657 43 102.5%
# %2 M £ (®H A HB ) 1,900 1,821 79 104.3%
g m I BRET 2,600 2,166 434 1200
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